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THE MATH OF LOSS
A c c o r d i n g  t o  H i n d s i g h t  

If you have a $100,000 investment and you lose 50%,
What percentage do you need to gain to make up for the loss?

During accumulation, the sequence of market returns is not critical 

to the ending account value. The average rate of return determines the 

end result. During distribution (retirement) the wrong sequence of 

returns can decimate an account rapidly. ARE YOU PROTECTED?  

I F  N O T  -  Y O U  N E E D  H I N D S I G H T

T h e  M a t h e m a t i c a l  C a t c h - U p  G a m e
The gain required to recover from a loss under 

normal circumstances may be challenging,

but look how much more difficult it is if you 

are taking distributions.
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